Mathematics
Arithmetic: Test 2b

Year 5

[ Name

[ Date

16

total marks
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Key Stage 2: Year 5: arithmetic test 2b

1 | 49+60=

3 | 3997+ 1716 =
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4 62 x 1=

5 | 316x7=

6 %ofllo
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7 | 28 115-4629 =

8 | 30000 + 600 =

q | 360=60=
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10 | 25 = 1000 =

4 3 _
M| 5-13%°
12 | >x2=
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13 | 2387 x 48 =

14 | 294 +7 =

@
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Answer Sheet: Key Stage 2: Year 5: arithmetic test 2b

iy

Guidance: Children will have 15 minutes for this test.

question answer marks
1 109
2 1—60 or %
3 5713
4 62
5 2212
6 16
7 23 486
8 30 600
9 6
10 0.025
11 % or %
12 12
13 114 576
14 42

Total 16
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